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2. What is a theme? Nir are tlieines classified? Draw out
Narrative Tiieme, taking any subject you may choose.

«3. Write a len minute paragraph on :-"Why we observed the
Jubilee."

4. (a) Quote fromn the', Deserted Village" a passhge of not less
and (b) paraphrase your quotation.

a seheme for a

Queen's Diamond

than eight lines;

- .-.- ____-. -
'j

5. <(a) Point out the figures of speech in the following . .
"« Sweet Auburn ! loveliest village of the plain."1
«"Near yonder copse, where once the garden smiled."

"As some fair female, unadorned and plain.'
" Along tby glades, a solitary guest,
The liollowv soundiug bittern guards its nest."

and (b)'Grivefire short, apt quotations froin the «"Deserted Villkge," irhich. have siot been
given in answer to auy previous question.

3.10 TO 4.10 P. m., WEDNESD.&Y, 7TU JUL77.

FRENCH. C.

1. Write, interrogatively with a negative, the Preseni. nd Past Indefinite Indicative
of the verb aimer. Nante the adjectives in French which are placed before their
substantives.

2. Translate: Cependant, les deux autres v9yegeurs se disaient: "Nous avions
birun affaire que ce jeune homme vint s'associer à nous; nous avons été obligés de partager
le trésor avec lui; sa part aurait augmenté les eôtres, et nous serions véritablement riches.
Il va revenir, nous avons de bons poignards ; servont3-nous-en."

Parse : i~e db<cdent, vint, i2a,,servons-noi.q-en Le ?utres, why plural?
3. Write in French : Follow gondl examples. The children run quickly ; they must

be al, the sebool at hall .past two. Let us go to dinuer. Do you knowv this lady!? My
friend boz been a-sleep, for two hours.

Namne the inoat important verbs <verbe8 tzeutres), conjugated wvith itre.
4. Translate: Le loup, tant à l'extérieur qu'à 1 intérieur, ressemble si fort au chien,

qu'il parait être modelé sur la même forme; cependant il n'offre tout an plus que le revers
e l'empreinte, et ne présente le.s mêmes caractères que sous une face entièrement

opposée; si la forme est semblable, le naturel est si différent, que non-seulenient ils sont
incompatibles, mais antipathiques par-la -nature, ennemis par instinct.

5. Translate into French any ire of the following - (1.) How wvere you yesterday,
Madamn? ~Thank you, I was flot very well (2 ) What is the matter with hini He is
very sick aud does not, sleep at aIl. (3.) W'hen the pupils are diligent, they read twvo
pages every day. (4.) If my brother-in.law does not wish to accoinpany you, I do not
wish it either. (5.) It was* impossible for us to pursue the robbers. (6.) 1 ivas bora on
the first of May, eighteen hundred and seveuty-four. (7.) The wolf is the most cruel and
bloodthirsty of aIl the animaIs.

9 TO 10 A~. mu, TiiuRsDAY, STHi JuLy.

GEOMETRY. C.

<Onlyfive questions to be answered.)
1. The straighit line joiniug the mididle point of the hypotenn'se to the righit angled

vertex of the triangle, is equnl to half the hypotenuse.
2. Find the locus of the intersection of the medians of a triangle described on a given

base and of given area.
3. The rectangle contained by two equal segments of a line is greater than nny

rectangle contaiued by its nequai segments. Prove this statemnent and Siud the différence.
4. If A BCbe a triangle of whlich B is the vertical angle. and B Q be aperpeudicular

on the base or base produccd, enunciate what the square on B C is equal Vo. (a) wlien
angle A is a right angle; (b) Nvlien it is lesu thanx i ri-lit angle:- (c) wlien it is greater than
a riglit angle ; (di) Nvhen angle A becoiues zero ; and (ec) when it becoines e qual to two righit
angles; and quote the propositions of Euclid whiceh the cases respectively become.

.5. If any two pointa are taken in the vircumfereuce of a circle, the chord whichi joins
themn falîs wvithin the circle.

6. Iu any triangle the sum of the squares on the two sides is double the squares of
hall the base and of the basal miedianl.

7. The squares on the diagonalt of a trapeziura are together equral to Vhe sum of the
squares on its Vwo oblique sides, wvith Vwicc the rectangle containedl by uts parallel sdces.


